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Question No. 1 is compulsory, answer any FOUR questions from the remaining.

(ii) TRIE YT & G} 9T %) HEER U T 8l o |

Solve all parts of a question consecutively together.

(iti) FAF 59T %) 7 98 3 I FHfrd |

Start each question on fresh page.

(iv) 2t T 7 St 81 ) i A s A & A 8 |

Only English version is valid in case of difference in both the languages.
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If all the processing equipments and machines are arranged according to the
sequence of operations on a product, the layout is known as

(a2) Product layout (b) Process layout
(¢) Fixed position layout (d) Combination layout

2) Frey 3 B i =T I F) W Y IucTeal % e 81 F1ieT ?

(a) it (b) Tens wsfi=
(c) Feaa et (d) ST el

Which of the following industry should be located near the availability of raw
materials ?

(a) Televisions (b) Sewing Machines
(c) Steel Mills (d) Light Bulbs

(1 0f 8) P.T.O.
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(a) Wl Frefor — sl — I - ST

(b) gt — et Pt - S - ST
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(d) i Pt - g - S - S

The correct sequence of operations in production, planning and control is :
(@ Routing— Scheduling - Dispatching — Follow up
(b) Scheduling — Routing — Dispatching — Follow up
(c) Dispatching — Routing — Scheduling — Follow up
(d) Routing — Scheduling — Follow up — Dispatching

frmr 3 i Y IeTe Soneh! T A A 8 ¢

(a) I (b) EHE S

(c) T&gIuEH (@) Iwiad i A HiS T
Which of the following production system is least flexible ?
(a) Job production (b) Batch production
(c) Mass production (d) None of the above

mm%mamzﬁm,wémﬁawmﬁmﬁﬂmmze
faq,9ﬁ=ram15ﬁ=r§|PERT%gm:mw®n?

@ 10fF () ofd © 9sfm @ sf&

Optimistic time, most likely time and pessimistic time for an activity are 6 days,
9 days and 15 days. What will be the effective time for PERT ?

(@) 10days (b) 9days (¢) 9.5days (@ 3 days

we st 99 1 Bt 2

(a) TATS (b) A E

(c) 3rfkean did (d) =

A critical path has

(a) Zero slack (b) Minimum slack
(¢) Maximum slack (d) Infinite slack

et T 3 fo e e el I B R 7

(a) e fodiegor (b) Higpa FlEm

(¢) Tammia fdieo (@) e wfawa e
Which type of inspection is most suitable for product layout ?
(a) Floor inspection (b) Centralised inspection

(¢) Departmental inspection (d) Cent percent inspection
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Statement I : Quality control department makes various efforts to prevent the
defects found during production to reoccur in future.
Statement II : Inspection department decides that when, how and how much

inspection is to be done.
Choose the correct option in reference to the above two statements !
(a) 1and Il both true (b) 1True, Il False
(c) 1False, Il True (d) 1and Il both False
I G B 2
(a) @ EHE + (b) it T +
© daam+amREE (@) T W~ B
Standard time is

(a) Normal time + Allowances
(b) Observed time + Allowances
(¢) Observed time + Normal time
(d) Normal time — Allowances

ey s < e 8 2 Pl ) Fref e 2 2

(@ Id (b) @t/HEd

() dH @ s

Which of the following process chart symbol represents ‘Inspection’ ?

(a) Circle (b) Square!Rectangle

(c) Arrow (d) Triangle

faft 3o % A mﬁqﬁmﬁﬁﬂﬁ%ﬁn%WﬁEﬁ%ﬂqﬁ

fRn S e ?

@ Ig@ () B|H © ww (4 wH

During method study which one of the following fact is not included in critical
examination ?

(@) Purpose (b) Place (c) Means (d) Time

fipet aeg g 2g i 3w A 7 400 UE wia g wiaad T8 T 1081
2000 3raga gfaad &l mam%gﬁawmwmw)aﬁ—

The ordering cost per order for an inventory is T 400, with an annual carrying
cost of ¥ 10 per unit. The Economic Ordering Quantity (EOQ) for an annual
demand of 2000 units will be
(@) 400 units (b) 440 units (c) 480 units (d) 500 units

P.T.O.
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(a CPMH (b) PERTH
(¢) aeg-geh Frmod (d) I ot
ABC Analysis is used in
(a CPM (b) PERT
(c) Inventory Control (d) All of the above
(14) e S fafes 3 qew gra 6 o 6 S @
(a) VR g W (b) TEHFTAW
(c) I A W (d) SR W
Under the diminishing balance method, depreciation is calculated on
(a) Initial value (b) Book value
(c) Scrap value (d) Market value
(15) Wea o i i e vt faftn 3 raria qeaen -
(a) YSHad g | (b) s ad Al 2 |
(c) s ad fRrwEaT? | (d) Iue § F HIg T2
Under the straight line method of calculating depreciation, it
(a) increases every year (b) decreases every year

(c) remains constant every year (d) None of the above

(16) Pt i & 3 a1 ues ‘Fifiee FgRE’ S U 5eh T8 8 7

(17

(@) HAFE

(b) Tasm 1 2fe @ wTafaes wHETaU
(c) drawra & ai

(d) oEA TR | ST B B

Which one of the following is not basic factor of ‘Crew Scheduling’ ?
(a) Hours of work

(b) Daily and Weekly intervals for rest

(c) Traffic Demand

(d) Handing over and Taking over time of vehicle

T G T T FAVT 2

(a) UsH (b) darE

(c) GSH Sl IFTHal (d) IuTEa |4t
Major cause of road accidents is

(a) Road (b) Vehicle

(c) User of road (d) All of the above

(18) e v e gro o gl 1 i fopm et o wan wmen R 7

(a) @TE Yeiteptor gfeeht (b) & Wi gieaent

(c) A& FAE gfET! (d) de Ja gieast

In which book the record of distance travelled by a government vehicle is maintained ?
(a) Vehicle Registration Book (b) Vehicle Log Book

(¢) Vehicle Maintenance Book (d) Vehicle Service Manual
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What is the age limit to apply for a driving licence to drive motor vehicles other
than a transport vehicle ?

(a) 16years (b) 18years (c) 20years (d) 19 ycars
mﬁsﬂmﬁwmw,mﬁﬁﬁaﬁﬁﬁm%ﬁﬁ%aﬂﬁ
Frafty 7 W @Al & 7

(@ 3o () 10ad ) 15 (d 20ad

For how many years, from the date of issue, the registration certificate of any
Light Motor Vehicle remains valid ?
(@) 3years (b) 10years (c) 15years (d) 20 years

2 T IS Teh Tha g AR 2l @ 7

(a) ‘wifdn e fo (b) T wfer foe
(c) ‘& == @) T G’ &1 e
Which mandatory road sign is Octagonal shaped ?
(@) “No Parking’ sign (b) ‘Restriction Ends’ sign
(¢) “Stop’ sign (d) ‘Give Way’ sign
(22) Py 1 1 a1 A o vay & g TE 2 7
(a)  farsE (b) iftreR UE ITREI
(c) Wk il () am i 3 e st fia i

(23)

(24)

Which one of the following is not a principle of management by Fayol ?
(a) Division of work

(b) Authority and Responsibility

(c) Mental Revolution

(d) Subordination of individual interest to general interest

2 e vz 2013 3 AT T Froft it e A wEier A atforeran & 2
(a 20 (b) 50 (c) 200 (d 500

As per the new Companies Act 2013, the maximum number of partners in a
Private Limited Company is

@ 20 () 50 (€) 200 (@ 500
wmmﬁ:&aﬁaﬁﬁﬂ%ﬁammwmm%?
1. Fém 2. T
3. HeA 4. =

@ 4321 () 4312 (@© 3421 @ 3-4-1-2

What is the correct sequence of following functions performed by a Manager ?
1.  Direction 2.  Control

3.  Organisation 4.  Planning

(@ 4321 (b 4312 () 3421 (@ 3-4-1-2

P.T.O.
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STE T TG & S I R _

(@) sy wEd: P 1 R, S e e €9 & BT FH 2 |

(b) TEIE EAa: Rufoners S 2, Fafe Y&y S w9 & BT B € |

(©) ST, Sy T i T A R | '

(@) 39 A 8BS T

Difference between Management and Administration is

(@) Management is mainly determinative function, while Administration is
necessarily executive function.

(b) Administration is mainly determinative function, while Management is
necessarily executive function.

(c) Administration is the lower level of Management.
(d) None of the above

@m%mmwsﬁ%%mw@ﬁatmuﬁlﬁai | © Afus S
aﬁ4diﬁwma?hs@m%: mwm@mm,a&mm
T T FT 50% Bl & ?

@ T160  (b) T 180 () 200 @ 220

Standard time for a work is 5 hr. andwagerateis?tiﬂperhr.Aworker
completes the work in 4 hr. What will be his wage according to Halsey plan, if
bonus is 50% of the time saved ?

(@ T160 (b) T 180 (c) T200 (d) T220

P 3 & R yome 3 =gaw wegh i e T & & 7

(b) o HgH Sl

(© wwaaHE & Rl wegh woret

(d) I d ST

Which one of the following system does not guarantee minimum wages ?

(a) Time wage system

(b) Piece wage system

(c) Combined time and Piece wage system

(d) None of the above

oY Al W, el fre, wmet & sfveer gfaemd seE @ a T
e 2 -

(a) ¥ oy e (b) oY IR el GEAH

(© = faw Bm (d) It H F HIE TE

The national institute providing machines, industrial finance, consultancy and
training facilities to small industries is

(a) National Small Industries Corporation

(b) Small Industries Service Institute

(c) State Financial Corporation

(d) None of the above
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(a) 1956 (b) 1948 (c) 1951 (d) 1965
When the first Industrial Policy of India was initiated ?
(a) 1956 (b) 1948 (c) 1951 (d) 1965

(30) m.m.ﬁ.ﬁm%mmﬂmﬁmﬁﬁaﬁmﬁmﬁazﬁﬁr@?
(@ 2 (b) 3=d c) 4= (d S5=d

Minimum for how long duration, the company must have been operative for
1.S.0. Registration ?

(a) 2years (b) 3years (c) 4years (d) 5 years (1x30)

2. () CPMW PERT aftaret & quf am fafae |
Write full names of the abbreviations CPM and PERT.
Gi) “ImERE AFMATER 7
What is meant by “Lead Time” ?
(iii) TEIw H! HRoTiNa Hifs |
Define depreciation.
(iv) ififas fam 3 g 9w S fafEg |
Write the four main functions of personnel department.
(v) HEES IR & T qIFaE ?
What do you understand by ancillary industry ? (2x5)

3. (i) I, P ICIECIRCREDEL R Srgur’ &1 quiF I |
Describe the ‘Dispatching’ in production, planning & control.
(i) Pl % st fafiam |
Write down the objectives of inspection. (5+5)

4. () faftr srer & fafte o farfiag e ST TEATeT e % faar @ EmeE |
Write down different steps of method study and explain critical examination in
detail.

(i) Seqfeear & 39 91 THFd & 2 JeaTeA TS Ieqiieehar A =t FarEt |

What do you understand by ‘Productivity’ ? State difference between production
and productivity. (6+4)

5. (i) m—zﬁhﬁﬂw’%ﬁwmm.ﬂﬂ.wmaﬁm%MI

Write down the objectives of ‘Inventory Control’. Explain the ABC analysis
method in detail.

P. T’o -
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@%ﬁnmmmﬁﬁﬁz?smﬁmlsa&mm@ % 15,000
2 mﬁq@mﬁﬁmwﬁaﬁms%aa:ﬂmﬁhmzmuﬁfaﬁﬁma
i I |

Initial cost of a drilling machine is I 75,000 and scrap value after 15 years is

T 15,000. If the rate of interest on depreciation fund is 5%, find the rate of
depreciation per year by sinking fund method. (5+5)

Trefior %ﬂ%gmﬁmm%wﬁnaﬁimm%m FEEH S 7

What factors should be considered while conducting road survey for rural area ?
aplfaet SR SR el 1 Har H Ui HINT |

Briefly describe the basic factors of crew scheduling. (5+5)

e Td WA AR E ?

What is the difference between Management and Administration ?

Wet & HE1 1 GO HIAT |

Describe the functions of Management. (5+5)

Tl WA ) - e gt @ ? T WG YA SOl & T d
Fremy fafaw |

Which are the methods of wage payment ? Write the advantages and
disadvantages of time wage payment system.

fftvr sl w3 @ arfiga Hie |

Classify the industries on different basis. (5+5)

9. = wwfige feopf forfen -

Write short notes on the following :

(i)

ITE a1 W fa=rme (ge)
Product and process layout (comparison)

(i) U R H Wy wrer g gl

Driving safety devices used in a car

(ifi) 3T$.99. 3. ~9000 (¥l T &)

1.S.0.-9000 (Necessity and benefits) ' (3+3+4)



